Risolvere le seguenti disequazioni:

x*%<3

x72< -3

Risposta: }3*%,—1—00
Risposta: [0,2%

Risposta: | — oo, O[U}E)_%,—i—oo _

Risposta: | — oo, O[U}S_%,jLoo -

Risposta: [v/—4, +00[
Risposta: [0,2% _

Risposta: | — oo, 0[U}5_%,+oo _
Risposta: ]—oo, —\6/5[ U] V2, —i—oo[
Risposta: R

Risposta: [—3*%,3*%} \ {0}
Risposta: R

Risposta: [—3‘?3_%} \ {0}
Risposta: [{/—2, +oo[

Risposta: [v/—4, +00[
Risposta: ]4*9, +oo[

Risposta: [0,2% _
Risposta: | — oo, O[U- 573, 400 -
Risposta: | — 1, +00]

Risposta: 473 , +00

Risposta: - 373 , +00 _
Risposta: {0}

Risposta: [—3_%,3_%} \ {0}
Risposta: [v/—4, +o00|
Risposta: }4 2,400

Risposta: ]— [ }\S/T 400
Risposta: R\ {0

Risposta: | — oo, 0[U }5 5,400
Risposta:] o0, f[ ]\f +00
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}

Risposta: [O 23[
[

[

Risposta: ()



